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QUESTION 1

When you create a FlexVol volume, which security style is applied by default?
A. the security style of the root volume of the cluster

B. UNIX

C.NTFS

D. the security style of the SVM root volume

Correct Answer: A

QUESTION 2
Click the Exhibit button.
clusterl:: *> aggr create —aggregate aggr3 —diskcount 8 —-mirror true

First Plex

RAID Group rgl, 4 disks (block checksum, raid dp)

Position Disk Type Size

dparity i.0.21 BSAS -
parity 105 B3ES =
data A R S BSAS 2TB
data 1.0.59 BSAS 2TB

Second Plex

RAID Group rgl, 4 disks (block checksum, raid dp)

Position Disk Type Size

dparity 1.0.15 BSRS =
parity 1.0.17 B3RS -
data 1.0.18 BEAS 2TR
data 1.0.13 EBEAS 2TB

Referring to the output shown in the exhibit, which aggregate capacity is available for a volume?
A. 4TB

B. 8TB

C.34TB

D.3.6TB

NS0-160 VCE Dumps | NS0-160 Practice Test | NS0-160 Exam Questions 214


https://www.pass4itsure.com/ns0-160.html
https://www.pass4itsure.com/ns0-160.html
https://www.pass4itsure.com/ns0-160.html

VCE & PDF https://www.pass4itsure.com/ns0-160.html
a 2024 Latest passditsure NS0-160 PDF and VCE dumps Download
== / PassditSure.com

Correct Answer: A

QUESTION 3

In which scenario would you specifically assign aggregates to SVMs?
A. to configure an ONTAP system for CIFS and iSCSI

B. to create SnapMirror peering relationships between SVMs

C. to prevent a storage administrator from overcommitting an aggregate
D. to configure an ONTAP system for multi-tenancy

Correct Answer: D

Reference:
https://library.netapp.com/ecmdocs/ECMP1368404/html/GUID-5255E7D8-F420-4BD3-AEFB7EF65488C65C.html

QUESTION 4

Which command shows the data compaction savings for an aggregate?
A. storage aggregate show-space

B. storage aggregate show-efficiency

C. volume efficiency show

D. storage efficiency show

Correct Answer: B

Reference: https://www.netapp.com/us/media/tr-4476.pdf

QUESTION 5

An administrator forgot to update the cabling sheet for a core Cisco switch and cannot recall which ports
were used by the NetApp FAS system.

Which command should the administrator run to obtain this information?

A. network port show

B. network device-discovery show

C. network interface show

D. network port broadcast-domain show
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Correct Answer: A

Reference: https://kb.netapp.com/app/answers/answer_view/a_id/1032596/~/how-to-diagnose-port-issuesin-clustered-
data-ontap-
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